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Note: There are total Seventy (25) multiple choice questions in this booklet. Answer (Tick
mark\) the correct choice.

MM: 25 Time: 50 minutes
1.) 3 ot e R 37
a. 2, b. 5, c. 1, d 4
2.) vRd ® T grei stfirere forees & 2
a. foismm , b. =W " C. 3T, d. sz
3.) g & e e 27
a. 1020, b. 1028, c. 1025, d. 1038
4.) HETINA i ToT foha & off 2
a. qerdie, b. mefy areHifs, C. 95 =, d. it
5.) S, GHE SR seed 1A R shifd § eie form a2
a. grie i TEel hif b. 3fenfirs wifa
C. Wid T TSTshifd d. sSresifaes shifd
6.) AT 6t I T FH g 2
a. THTcHh b. enfife T C. JTEATHE d. ded=
7.) v dog | i et 27
a. Tt b. T C. TsgaT d. 3o et
8.) foret wiforem wvit ot sreerelt sreaer frrgeh foram T onn?
a. S1.TSE T b. dfed SETRETe AT
C. S1. e siergat d. <7.9f=erg R
9.) MR H FETH STUHT g8 off?

When was the first census conducted in India?
(A) 1872 (B) 1882 (C) 1832 (D 1852

10.) ST 2011 % 18R wo@ o1 U7 27

Which is the largest state according to census 2011
(A)  ammete (Nagalend) (B) mar (Goa)
(C)  stigwewr (Andra Pradesh) (D) 3w wewr (Uttar Pradesh)



11.) Strmomr 2011 % 3g8r fefit st &7

What is the sex ratio as per census 2011?
(A) 917 (B) 920 (C) 949 (D) 850
12.) & " o T stmifer srefereren (Planned Economy for India) & s @

The author of the book 'Planned Economy for India' is

(A)  SETE & 48% (Javahar lal nehru) (B)  wm. faggm (M. Visheshraeya)
(C)  #@rewt Wi (Mahatma Gandhi) (D)  9=REY (Mnnarayan)
13.) ST ST ATSHT i Far =7

What is the duration of the first five year plan?
(A)  1953-1958) (B) 1951-1956 (C) 1954-1959 (D) 1955-1969
14.)  The largest endocrine gland is:
(a) Pituitary (b) Pineal (c) Thyroid (d) Adrenal
15.)  Steroid hormones are derived from:
(a) Amino acids (b) Proteins (c) Peptides (d) Cholesterol
16) Insulin is secreted by which cells of Islets of Langerhans?
(a) a-Cells (b) B- Cells (c) y-Cells (d) 8-Cells
17) Smallest endocrine gland is:
(a) Thyroid (b) Pituitary (c) Adrenal (d) Islets of Langerhans
18.) 1607 x 1607 =
a. 2582449 b. 2562449 €.2582549 d. 2582349
19.) What is the value of £X2 i 2 = 79

Pr-Q) Q@

a. 1/3 b. 2/3, c.4/3, d. 7/8
20.) If V6 = 2.449, then the value of% =?
a.0.6122 b. 0.8163 c. 1.223 d. 1.2245
21.) Which state government decided to start world’s largest floating solar project by 2023?
(a) Tamil Nadu (b) West Bengal (c) Karnataka (d) Madhya Pradesh
22.) National Youth Day is celebrated on:
a) 7th January (b) 8th January (c) 10th January (d) 12th January

23.) The India Meteorological Department (IMD) inaugrated India's highest Meteorological
Centre (MC) in

(a) Ladakh  (b) Arunachal Pradesh (c) Sikkim (d) Jammu and Kashmir
24.) Air is to man as wateristo____

a. Plants, b. Fish, c. Amphibians, d. Life
25.) Soldier: Army

a. child : children, b. star : constellation

c. malaria : disease, d. shoes : cobbler



